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VI Semester 3 Years LL.B. /lll Semester 3 Year LL.B./ VIl Semester 5 Year
B.A.LL.B (Maj.-Min. System) / B.B.A.LL.B./B.Com.LL.B./X Semester 5 Year
B.A.LL.B./B.B.A.LL.B. Examination, March/April 2023 (December 2022)
LAW OF TAXATION

Duration : 3 Hours Max. Marks : 100
Instructions : 1. Answer Q. No. 9 and any five of the remaining
questions.
2. Q. No. 9 carries 20 marks and the remaining
question carries 16 marks each.

3. Answers should be written either in English or
Kannada completely.

Q. No. 1. Explain the meaning and essentials of tax and distinguish it
from fees and cess. Marks : 16
30700 ©FF WP WBIFTINT), DBOR WY By, W) BOF
301 (cess) nNwow “8‘835% 353252;%@.

Q. No. 2. Discuss the principles relating to determination of residential
status under the I.T. Act, 1961. Marks : 16
ANDR] m@sss& ANDJRTORN B0 oo 30 TR, 1961 T
©SRODY, BTT| BINT), WA

Q. No. 3. When and how the profits and gains from business or profession
are subjected to tax ? Discuss. Marks : 16

B8 O 333, ZDTR0T WTVT o 0B NYENLL odnesen &R
Tert oMK wITROBTE ? WAL

Q. No. 4. Write a note on the difference between tax evasion and tax
avoidance. Marks : 16

3OTC00T BRABAENE IR SOREN0T FEURRINE IR
Q0B BIANG 52030 TS 2BC00.
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Q. No. 5.

Q. No. 6.

Q. No. 7.

Q. No. 8.

Q. No. 9.

Explain the circumstances under which incomes of other person
are included in the total income of assessee. Marks : 16

e [N STRODND TSI 2.8, SWONTY, FeOR
NODPFNTIY,  WORD.

Discuss the provisions relating to levy and collection of tax
under the CGST Act, 2017. Marks : 16

B0, RTB 0B Aewe 30N AT, 2017 T &&@0HE 301 HPROT
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Define the term Warehouse. Explain the provisions for
clearance of goods under Customer Act, 1962. Marks : 16

UTID, £933Y, 339,409, R. e RO0T R0, 1962 T ©R0DY,
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Write a short note on any two of the following : Marks : 2x8=16
85 BENT CINVWOTITH OTBE, OO 3T WO
(a) Agricultural income.
T & WORRS
(b) Registration under GST.
23.0%°.83. RO, JpeoTed

(c) Tax Avoidance.
30 Sagoébé.

Solve any two of the following problems : Marks : 2x10=20
CINTTOTAR QTE AT, NTD), WHRBOA

(a) ‘A’ an employee received uniform allowance from the
employer . Is it taxable income ?
‘R’ 030 Y, BROBIOT FBOHA, zdéesojo;’% ajzéfbw%ﬁ. QAT
SONRRTIEIRN STTO0TE ?
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(b) ‘X' is a senior advocate in the High Court of Karnataka.

During December 2018, he provides legal service to
‘A’ company (a firm of advocates) in Maharastra for a fee
of Rs. 1.5 lakhs. Turnover of ‘A’ company for preceding
financial year is Rs. 18 lakhs. Discuss whether the services
are chargeable to GST.
X' 202 TIVF 3T 99, 0000INT &OOD FFewDTd 2018 BHOWT?
SonYSQ, ‘A’ 20w FOTIN (VOTITIFZQTOT @8ewT Fo%))
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W30,

(c) Explain the rules determining the residential status of an
individual assessee.
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